2 0 0 5
2AXTh e F I TS

mE s

2 RKMElFER (S &E 0 =)
LTRETR

‘:/'":L I_J —
ROy Wy e
FE B T
BEEEER B {F—
1#H
aA-2Ztwd— FFEFRBRTE
AIEE -4- 0] _E
-B- R
FEF 8% 148 25
Eatisa 148 10:39
¥ T BF 148 10:51
SERR 14#E FIE:cloudy
=4 H claudy

L AR} TR
JIBfiz " &

1 138 EEA B

2 136 #hE TE

3 148 BoiR &A%

4 146 T BE

5 142 FOH *0iE

& 155 FRETHC

7 1M HE E

8 153 FFFEREEF

5 158 #H i

10 150 FF AE

11 145 fLEE =i

12 151 LFRER

13 157 =% %A

14 156 E= Féh{E

15 158 A BEF

soosovss MEEERE—E
L WEH
BiE GRS —

EE : hard

hard

P

SR Jr
Ta$
]
FHP
SR L=t
FHE) 5P
£l
Folrk® ok
FHE) 5P
]
=Rk
B

ek ) PtV

ERF Jr
B

J—27—#
O—28F
H4¥ELFO-2A

2E— o ES 1443m
T4 ZwioathSES 1255n
=E T13m
E 188n
EARE 43.34%
| e 12.67%
FrIRE 97.35%
O—2482 N
2#H
-2t 4— FPBRTE
FEF 8% ey = 29
RACEEF 2#H 13:10
¥ T BF ey = 13:28
Sag:5 -2.0°C F o-1.0%C
-2.0°%C -1.0°0
1#&H 24 H
BF F BF F
00:46.83 004315
046,30 045,595
00:47.13 043,65
048,79 043,65
005010 005221
005026 005235
005025 005278
0052.82 053,25
0051 .85 054,48
005210 054,50
0052.20 054,44
005281 054,00
0053.88 005610
0053.85 O057.04
0054.53 056,40

o |

Ll

on 3602
on:36.28
13682
£n:38.48
o423
o 4265
o 4507
o1 4811
o 456,33
£ -46.60
o 46,54
o1 4681
45558
£n:5088
15083



JIE iz

16
17
18
19
20
il

00501/23 IBHSE 2 %18

2 0
vy
A= wmE
Mo K &
147 EE Bx
160 T 5
143 BEH =

139 SEE AT

144 IRASEOLE]

148 FAHHH
DID MOT START [1st RUN]

137 G# &F

140 IRA{E0LF]
DID MOT FIMISH [1st RUN]
DISQUALIFIED  [1st RUN]
DID MOT START [2nd RUR]
DID MOT FIMISH [2hd RUR]

152 AE BAE

154 {ZEE 2B

OSQUALIFIED  [2nd RURN]

P

EpAlRs
FeHfi8] P
AR
Bl sE
=PEs
=T Jr

ERNEET
BIF

A=l
I =i’

i #lgs
Hie R R —il

o554y
Cr5E.08
Q5623
Qo572 75
CO5E27
ono.0a

Q5E.20
CorsB5E
on0082
on00ss
on0e.ca
)RR

O o

B fH]

on:51.57
15547
£ 5685
£ :58.558
Ce0030
C:38.54



